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usr_coill:cyclenum {run == 8116}

AKX

AR !
..*.... ) .....;.....

103800380.3038110381.503820382.5038B80383.50384
cyclenum

usr_coil6:cyclenum {run == 8116}

*:::k

103800380.3038110381.803820382.5038B80383.50384
cyclenum

-200

-400

-600

-800

-1000

-1200

-1400

-1600

—-1800

35000

30000

25000

20000

15000

10000

5000

usr_coil3:cyclenum {run == 8116}

k

N | 11
103800380.3038110381.403820382.503880383.50384
cyclenum

usr_coil7:cyclenum {run == 8116}

0 103800380.8403810381 .525%%20382.503830383.55§§4

cyclenum

aeooo
5000
4000
3000
2000

1000

8118
3117.5
8117
3116.5
8116
3115.5
8115
3114.5

8114

usr_coil4:cyclenum {run == 8116}

,.
A

N
[

-
A

-
PR R

0 -‘-‘-‘W
103800380.5 381.503820382.5038B0383. 4

cyclenum

run:cyclenum {run == 8116}

103800380.303810381.803820382.503880383.50384
cyclenum



o

-100

-120

o

1X_coill:cyclenum {run == 8116}

AKX

T
N

ol b b b b b bies
103800380.3038110381.503820382.5038B80383.50384
cyclenum

4eX_coill:cyclenum {run == 8116}

AKX

-100

-150

-200

103800380.3038110381.803820382.5038B80383.50384
cyclenum

4eX_coil3

1X_coil3:cyclenum {run == 8116}

0 %
103800380.8 381.503820382. 80383.50334

cyclenum

4eX_coil3:cyclenum {run == 8116}

103800380.3038110381.403820382.503880383.50384
cyclenum

1X_coil7

4eX_coil7

100

N
3]
=]

200

150

100

50

1X_coil7:cyclenum {run == 8116}

103800380.503810381.803820382.503880383. 4

cyclenum

4eX_coil7:cyclenum {run == 8116}

103800380.503810381.5!

20382.5038B0383. 4
cyclenum




4aY_coild:cyclenum {run == 8116}

w
o
=]

4ay_colla

0 -‘-‘-‘%W—u-
103800380.5 381.803820382.503880383. 4

cyclenum

4eY_coild:cyclenum {run == 8116}

“ar_vunu

4eY_coll4

N

13

o
L B B R

X .

103800380.4 381.803820382.5038B0383. 4
cyclenum

“c 1 _Lunu

4aY_coil6:cyclenum {run == 8116}

4aY_coil7

[ARIREETE FRRTI AT IRTT1 AT
8110381.503820382.503880383.50384
cyclenum

AR RETE ENE]
103800380.803:

4eY_coil6:cyclenum {run == 8116}

4eY_coil7

or : ¥ : )'&
oo b
7120_—

XK oX s K
Y| ITT1 FNTTE FNUTI RN ARUNY ARRRE AURN FRUTE RUATL NAT

103800380.3038110381.403820382.503880383.50384
cyclenum

o

|
&l

-10

-15

4aY_coil7:cyclenum {run == 8116}

1l T L L L N
103800380.303810381.803820382.503880383.50384
cyclenum

4eY_coil7:cyclenum {run == 8116}

103800380.303810381.803820382.503880383.50384
cyclenum




o

-100

-150

-200

-250

=

12X_coil6

o)

12X_coill:cyclenum {run == 8116}

AKX

T
B

T
N

L L L L L L1
103800380.3038110381.503820382.5038B80383.50384
cyclenum

12X_coil6:cyclenum {run == 8116}

0 10380D0380. 503&]0381.5{;%%20382.503830383.&3‘%%4

cyclenum

Len_vuni

12X_coil3

-100

-200

-300

-400

-500

12X_coil3:cyclenum {run == 8116}

k

b b b bevaa e
8110381.503820382.503880383.50384
cyclenum

ARENNETE NRET]
103800380.803:

12X_coil7:cyclenum {run == 8116}

T T T
.
1

103800380.3038110381.403820382.503880383.50384
cyclenum

20

12X_coil4

15

10

8118

3117.5

8117

3116.5

8116

3115.5

8115

3114.5

8114

12X_coil4:cyclenum {run == 8116}

.*..........- ..... L F e R P

103800380.303810381.803820382.503880383.50384
cyclenum

run:cyclenum {run == 8116}

103800380.303810381.803820382.503880383.50384
cyclenum




	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8


